CheckPoint

Two infinite lines of charge are shovwn below.

°B

Both hines have identical charge densities +4 C/m. Pomnt A 15 equdistant from both lines and Point B 1s located a above the top line as shown.

How tluei EI the magnitude of the electric field at point A, compare to £g, the magnitude of the electric field at point B?

O Fa=Eg
©OE4>Eg A) (Ex<Eg) “As the electric field by both lines
Two Lines of Charge: Question 1 (N = 859) have equal magnitude on A but opposite
100 directions they get cancelled out hence electric
81 field at A=0 whereas that is not the case at B
80 and electric field at B>0"
E a0
5 40 C) (Ex>Eg) “E_A will be grater becuase it has
= two lines of charge acting on it from equl
20 i) 1 distance were E_B would be less because it is
. . — fruther from the lower line of charge.”
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